Team Scenario A – State  FFA Poultry CDE 2006

Read the two scenarios and answer the 15 questions as a team. 

A copy of bulletin 418-5 will also be made available for you as a reference manual. 

You will have 30 minutes as a team to answer the 15 problem solving questions. 

A number of broiler growers have been questioning their servicemen about the size of the chicks being delivered at day of age.  One grower reported that the chick sizes delivered to his farm were both larger and smaller (compared to what he usually received) The chicks tended to walk only to eat and sleep, and huddled together.  Some of the larger chicks seemed to have a yolk colored material stuck to their feathers.  Some of the birds that died within the first week (2%) had green colored yolk material within their bodies.  After a week of growth the birds seemed to be slower growing than the other flocks he had received this year.

One serviceman decided to visit with the hatchery manager to see if something had happened at the hatchery.  The hatchery manager didn’t think anything was wrong and was willing to show his records (they work for the same company complex) to the serviceman.  The chick delivery in question came from a hatch of 70,500 chicks.  Of the 174,419 eggs set, 99,419 eggs were candling clear and the hatchery waste survey done routinely for this batch indicated that a few (6) were missing upper beaks.

The hatchery had a multi-stage incubator system in place and was relatively clean as the serviceman was shown around.  The hatchery was comfortably cool for a summer day as the hatchery was cooled by evaporative pad swamp cooling units on top of the hatchery.  All employees had to change into work clothes and shoes before entering the hatchery and were not allowed to own pet birds.  All eggs were routed to the hatchery via company trucks and were ovo-injected upon arrival at the hatchery before being transferred into hatchery holding carts.

As a team, answer these questions. The answers should be bubbled in only on the person designated as contestant 01 for that team. 

1. Of the 174,419 eggs set, how many can be assumed to be infertile?

a. 70,500

b. 99,419

c. 75,000

d. none of the eggs were infertile

2. What percentage of the eggs are fertile?

a. 43%

b. 75%

c. 94%

d. 98%

3. What is the % hatch of fertile eggs? 

a. 43%

b. 75%

c. 94%

d. 98%

4. Why might the serviceman want to do an analysis of the feeding program for the breeders?

a. because of skeletal deformities in the chicks

b. because the chicks are growing slowly in the first week of growth

c. because of uneven egg size

d. the feeding program for the breeders has no impact on the problems

5. What element might he find lacking in the diet due to the incidence of a small percentage of the chicks missing the upper part of the beak? 

a. calcium

b. iron

c. zinc

d. selenium

6. What is the best explanation for the uneven egg size being shipped from this flock to the hatchery? 

a. eggs are the first eggs from a young flock

b. eggs are from an older flock nearing the end of its productivity

c. breeders are receiving a ration too high in protein and are fat

d. breeders are not stocked at the correct density, not having enough roosters is causing the egg  size to vary widely

7. What bio-security measures are already in place at the facility? 

a. there are no bio-security measures in place

b. employees change clothing and shoes before entering the hatchery and employees are not allowed to own pet birds

c. to conserve fuel, employees drive their own smaller trucks to carry eggs to the hatchery

d. employees have to change  out of their work clothes before heading for home and change into clean work clothing at home before returning to work the next day 

Scenario B – State FFA Poultry CDE  2006

A shell egg processing plant was complaining to its serviceman that the eggs from Foggy Bottom Farm were showing a high number of cracks and small and misshapen eggs.  The serviceman decided to pull up the records for the flock of 250,000 layers placed at Foggy Bottom.  The report for last week showed the following averages:

Age of flock:  24 weeks

Body weights from one area of the house at random (15 birds): 1527g

Eggs per week: 1,416,253

Ending Bird count: 249,780 birds

Daily Feed consumption: 52,454 lbs.

Daily Water Consumption: 6,245 gal (U.S.)

Daily house temp: 78oF

Feed Analysis:

Protein: 15.7%

Calcium: 2.1%

Available phosphorus: 1.2%

The farm is 10 years old and is a deep pit caged layer facility.  Due to participation in a welfare program the birds are currently house at 72 square inches/bird caged.  Mortality is removed daily and birds are on a constant 16 hour light cycle.  Eggs are packed nest run onto paper trays using a farm packer for further processing at a larger processing plant.

As a team, answer these questions. The answers should be bubbled in only on the person designated as contestant 01 for that team.

8. Compare the protein and calcium  levels of the feed analysis and current production rates. 

What conclusions can you draw?

a. protein levels are high and calcium levels are low

b. calcium levels are high and protein levels are low

c. both protein and calcium levels are low

d. both protein and calcium levels are high

9. How do both feed and water consumption compare for birds of this age (24 weeks) . 

a. both are higher than normal for birds of this age

b. both are lower than normal for birds of this age

c. feed consumption is low, water consumption high for birds of this age

d. water consumption is low and feed consumption high for birds of this age

10. Calculate the daily water consumption per100 birds.

a. 2.5 gallons per 100

b. 25 gallons per 100

c. 250 gallons per 100

d. not enough information given to calculate 

11. Calculate the pounds of feed per dozen eggs for the week reported.

a. 0.444 lbs/dozen

b. 3.11 lbs/dozen

c. 26.99 lbs/ dozen

d. not enough information given to calculate 

12. If the week started out with 250,000 layers and the ending bird count is as given in the report, what is the % of  survival? 

a. 78.2%

b. 88.8%

c. 98.6%

d. 99.9%

13. How might the producer get a truer picture of the body weights and overall condition

of his layers? 

a. take a larger sample and from different parts of the house

b. take a larger sample but from the same area of the house for comparison

c. take a smaller sample because it is more accurate

d. the method used the first time already provides a very true picture

14. If you were the service man dealing with this flock you would probably want to check on

the vaccination schedule for the flock. After having done so, you may want to send some birds to a diagnostic lab to check for which disease(s) due to the shell problems.

a. Infectious bronchitis

b. Newcastle disease

c. Birds should be checked for both A and B

d. It is a waste of time to check for either of these as they don’t effect the shell

15.  Based upon the body weight one can assume the birds need to

a. eat more, so be sure the house is cool enough that they will eat more

b. eat less, so raise the temperature by about 5 degrees F to curtail their consumption

c. be maintained at this body condition since it is right at the ideal level for their age

d. all they need is a little salt added to their diet so they will drink more

